RIEGEEDKERANREH - ERLSVEREHR

EHXR: FRR28F F41E~TRE28F F46E(10.10~11./20)

L] AR FEE] 23 18/ e
TE =g A K B & F41:8 F42;8 54338 4438 4538 54638
(10/10~10/16)|(10/17~10/23)|(10/24~10/30)| (10/31~11/6) | (11/7~11/13) [(11/14~11/20)
o AV TILIY | BER 16 35 13 126 2117 418
B EEsy | 0.21 0.46 0.96 1.66 2.86 5.50
RS A L AL | BEH 133 102 82 58 81 48
Ay 2.77 213 1.71 1.21 1.69 1.00
IR BB 5 e BEH 2 3 13 12 10 ]
Ea4Y| 0.04 0.06 0.27 0.25 0.21 0.15
ABSRMMELUY | BEX 34 53 36 53 o/ 10
KEWEL |EasY| 0.71 1.10 0.75 1.10 1.19 1.46
S i B HE 19 168 213 384 545 645
EaA4Y| 1.65 3.50 5.69 8.00 11.35 13.44
Kis HE 4 12 10 11 8 18
:lJ; &A%Y 0.08 0.25 0.21 0.23 0.17 0.38
5 |FROA BER 44 41 30 32 30 21
= EEsyY| 0.92 0.85 0.63 0.67 0.63 0.56
R BB BEH 5 12 8 1 3 o
Easyl 0.10 0.25 0.17 0.02 0.06 0.10
EHMFELA BEH 17 23 28 25 19 24
EEsyY| 0.35 0.48 0.58 0.52 0.40 0.50
HA% 5 0 0 0 0 0 0
E&sy | 0.00 0.00 0.00 0.00 0.00 0.00
LSV E—F | BEHR 13 13 12 o 2 8
EasY| 0.27 0.27 0.25 0.10 0.04 0.17
FAME TR | BER 13 24 18 22 15 17
EEsyl 027 0.50 0.38 0.46 0.31 0.35
| MR | BER 0 0 0 0 0 0
£l E&sy | 0.00 0.00 0.00 0.00 0.00 0.00
E FAMARIE L | BEK 13 12 16 12 5 13
a4y 1.08 1.00 1.33 1.00 042 1.08
B B % BEH 0 0 0 0 0 0
E&sy | 0.00 0.00 0.00 0.00 0.00 0.00
T M B o BEH 0 0 0 1 1 1
&A%Y 0.00 0.00 0.00 0.14 0.14 0.14
£ |RAOTSRMR] BER 9 10 2 3 9 14
8 a4yl 1.29 1.43 0.29 0.43 1.29 2.00
E|y53oTMs | HEH 0 0 0 0 0 1
#FHyLmeERO [EA%Y| 0.00 0.00 0.00 0.00 0.00 0.14
Rt B i 2 BEH 0 0 0 0 0 0
@av LR) | E5LY|  0.00 0.00 0.00 0.00 0.00 0.00
AVILTILY | BEH 0 10 0 1 6 2
(AR | EaxY| 0.00 1.43 0.00 0.14 0.86 0.29
EEH
AUINIVY E & 16
INBRIE S 48
BRALE 12
A% FE S 7
& it 143




REFTENNERAIBER - ERIYREH

SR FH28F F46i#E(11.,14~11.,20)

£4
EmiEH E M & | o |THEw| RE | RE | me | Rk | mE | & |[PE]Ap|PER
tuanivy | A TIVITH H|ER 65 31 3 1 69 84 66 41 8 30 -I O -I O
R Em%Y| 3.61 | 388 | 0.38| 994 | 6.00 | 6.00 | 5.50
RS AL RRERSE | MEH 11 0 Ji 6 20 4 48[ _ | _ | _
£a%y| 1.00 | 0.00| 1.75| 0.55| 200 | 057 | 1.00
RSB LR A s 0 0 0 1 3 3 7 3111 -
£x%Y| 0.00 | 000 | 0.00| 009 | 030 | 043 | 0.15
ABPARMELL Y | BEH 26 12 2 8 17 5 70 g lal-
HEWEL |EAuy| 236 | 240 | 050 | 0.73 | 1.70 | 0.71 | 1.46
£482Y)10.36 | 420 | 0.50 | 7.27 [37.70 | 7.29 | 13.44
1N Esasy| 0.64 | 020 | 000 | 0.27| 0.70| 000 | 0.38
;‘3 FEO0% HER 13 0 0 1 8 5 27115 [ 5] _
= £m%Y| 1.18 | 000 | 0.00 | 0.09 | 0.80| 0.71 | 0.56
R |ERMATH HER 0 0 0 0 3 2 9 2111 -
£s%Y| 0.00 | 000 | 0.00| 000 | 0.30| 0.29 | 0.10
ERUEFKLA HEH Ji 9 0 4 Ji 1 2411 _ | _ | _
Emsy| 0.64| 1.00 | 000 | 0.36| 0.70 | 0.14| 0.50
£s%Y| 0.00 | 000 | 0.00| 0.00 | 0.00| 0.00 | 0.00 '
ALISUE—F | BEX 1 0 0 7 0 0 8 6121 -
£m%Y| 0.09 | 000| 0.00| 064 | 000| 0.00 | 0.17
FATHE TR | BEH 9 1 0 2 1 4 17 61213
Emgy| 082 020 | 000 | 0.18| 0.10| 057 | 0.35
R |[REHmEREE Y | BER 0 0 0 0 0 0 Ol f 110.1] -
) £s%Y| 0.00 | 000| 0.00| 0.00 | 0.00| 0.00 | 0.00 '
T meHmsEg | B 2 2 3 5 0 1 B8l gl 4| -
Emsy| 0.67 | 200 | 3.00| 1.67| 000| 050 | 1.08
A BRS¢ BER 0 0 0 0 0 0 off _ | _ 1| _
£s%Y| 0.00 | 000 | 0.00| 0.00 | 0.00| 0.00 | 0.00
B 2 BEH 0 0 1 0 0 0 1l | _ | _
£x%Y| 0.00 | 000 | 1.00| 0.00 | 0.00| 0.00 | 0.14
® |NAITSAEK | BER 4 0 6 1 3 0 1410 | _ | _
% Em%Y| 2.00 | 000 | 6.00| 1.00 | 3.00 | 0.00 | 2.00
E 95307 % BEH 0 0 0 0 1 0 1l 1 _ | _
G*onmERO |ER%Y| 000 | 0.00| 000 | 000| 1.00| 000 | 0.14
B BB R BER 0 0 0 0 0 0 off _ | _ 1| _
(@zyfLz)  |Em%y| 0.00 | 0.00| 0.00 | 0.00| 0.00 | 0.00 | 0.00
AVINIIH BEH 1 0 0 0 1 0 211 _ | _ | _
(ABR) gszy| 0.50 | 000 0.00] 0.00| 1.00| 0.00 | 0.29 L
Ermior KR
ERH UEBHLALEBYE
1INIVY T 18 8 8 17 14 11 76] 7
INRRE A 11 5 4 11 10 7 48
BREIE R 3 1 1 3 2 2 12
ERER 2 1 1 1 1 1 7
& &t 34 15 14 32 27 21 143
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FEBERA ORFABMEL - ERLVBEH
EENR:FR28E F46:8(11/14~11./20)

EREA| K R A W | ~558 |~11xB| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80R%~
tomavy | AV TINIH #ey | 418 1 1 5 6 8 18 21 23 32 35 32| 118 21 1 31 29 10 9 3 2
ER E=%Y | 550 | 001 | 0.01 | 007 | 008 | 0.11 | 0.24 | 0.28 | 0.30 | 042 | 046 | 042 | 1.55 | 0.36 | 0.09 | 041 | 0.38 | 0.13 | 0.12 | 0.04 | 0.03
Pt T T " & wH | ~57A |~1z7A| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20m%~
RSy ILRER A | WEM 48 6 18 14 5 3 2 0 0 0 0 0 0 0 0
ERzY | 1.00 | 0.13 | 0.38 | 0.29 | 0.10 | 0.06 | 0.04 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
WEEE RS SN i 1 0 1 1 0 1 0 1 0 1 0 0 0
E=%Y | 0.15 | 0.00 | 0.00 | 0.02 | 0.02 | 0.04 | 0.00 | 0.02 | 0.00 | 0.02 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00
ABGEmPELLY | BER 10 0 1 8 16 5 5 5 6 1 3
HKEmEx | Ex%Y | 146 | 0.00 | 000 | 0.02 | 006 | 0.19 | 017 | 0.33 | 0.10 | 0.17 | 0.10 | 0.10 | 0.13 | 0.02 | 0.06
BT HR HEH 645 1 1 49 64 69 89 80 67 44 29 23 40 9 14
ER%Y 113441 002 | 015 | 1.02 | 1.33 | 144 | 185 | 167 | 140 | 0.92 | 0.60 | 048 | 0.83 | 0.19 | 1.54
KiE HEH 18 0 0 2 2 1 4 0
N E=%Y | 0.38 | 0.00 | 0.00 | 0.04 | 0.00 | 0.00 | 0.04 | 0.00 | 0.06 | 0.04 | 0.08 | 0.02 | 0.08 | 0.00 | 0.00
;; FROMH HEH 21 2 5 1 2 1 0 0 1 1 1 1 0 0
= E=%Y | 056 | 004 | 0.10 | 0.15 | 0.13 | 0.04 | 0.02 | 0.00 | 0.00 | 0.02 | 0.02 | 0.02 | 0.02 | 0.00 | 0.00
R |{miATBE HEH 5 0 1 1 0 1 0 0 0 0 1 1 0 0
E=%Y | 0.10 | 0.00 | 0.02 | 0.02 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.02 | 0.02 | 0.00 | 0.00
RRMHLA HEH 24 0 1 16 1 0 0 0 0 0 0 0 0 0 0
ERzY | 050 | 0.00 | 0.15 | 0.33 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
= i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AbSuFE—+ | BEH 8 0 0 4 1 0 2 0 0 0 0 0 1 0 0
E=%Y | 0.17 | 0.00 | 0.00 | 0.08 | 0.02 | 0.00 | 0.04 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00
ROTHETRA | BER 17 0 0 1 2 0 1 2 2 2 4 2 1 0 0
E=%Y | 0.35 | 0.00 | 0.00 | 0.02 | 0.04 | 0.00 | 0.02 | 0.04 | 0.04 | 0.04 | 0.08 | 0.04 | 0.02 | 0.00 | 0.00
% SAER T " & s | ~548 |~115B| 18 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70&%~
g |BrEH MR BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
=l E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
E FATHARES | BEN 13 0 0 1 1 0 0 0 0 1 0 0 1 2 2 1 2 0
ERzY | 1.08 | 0.00 | 0.00 | 0.08 | 0.17 | 0.00 | 0.08 | 0.00 | 0.00 | 0.00 | 0.00 | 0.08 | 0.00 | 0.00 | 0.08 | 0.17 | 0.17 | 0.08 | 0.17 | 0.00
R = R %A oy OR% 1~4 | 5~9 | 10~14 | 15~19 | 20~24 | 25~29 | 30~34 | 35~39 | 40~44 | 45~49 | 50~54 | 55~59 | 60~64 | 65~69 | 70m%~
RE R HEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
EETERAE R HEH 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0
Em%Y | 014 | 0.00 | 0.00 | 0.00 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
g [RATTIAEH_BEH 14 0 3 1 2 1 1 0 0 0 0 0 0 0 0 0 0
% EmzY | 200 | 000 | 043 | 1.00 | 0.29 | 0.14 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
E ISITTM% HEH 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0
GoLmERO | ER=Y | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
BB BR HEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(asy40R) | Ex%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AVTNIVH HEH 2 0 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0
(ABD)| =&Y | 0.29 | 0.00 | 0.14 | 0.00 | 0.00 | 0.00 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00




